Fax Page 1 of 4



Sales Tax Exemption

Texas A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of Texas A&M.

The laws of the State of Texas shall govern this Purchase

Member of the Texas A&M University System.

Purchase Order						
Purchase Order Date PO/Reference No. Revision No.						
Jun 9, 2020	AB0541350	0				

Contact instructions for questions regarding this Purchase Order:

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer.

Buyer Contact:

Buyer	Buyer Email	Buyer Phone Number	
paw - Winkler, Patty	p-winkler@tamu.edu	979.845.4556	
Customer Contact:			
Name: Tonya Laird			
Email:	T-LAIRD@TAMU.EDU		
Phone:	+1 979-847-7334		

Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Texas A&M's Department of Procurement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Texas A&M's Terms & Conditions, which are available online: http://purchasing.tamu.edu/suppliers/bidscatalogue-tc-form/

Suppl	ier Information		Delivery Information		
Supplier Name HBI OFFICE SOLUTIONS INC		Delivery Address			
Address	308 HWY 75 NORTH STE B	TAMUS Member:	02-Texas A&M University (02)		
	HUNTSVILLE, TX 77320 US	Attn:	Anthony Antonidis		
Phone	+1 936-295-4592	Division of IT			
Fax	+1 936-295-5264	Allen Bldg			
FOB / FREIGHT	Destination	Room			
Pre-Pay & Add	No	1004 George Bush Dr V	Vest		
Payment Terms	0, Net 30	3142 TAMU			
Contract Number - Header no value		College Station, TX 778	43-3142		
			United States		
Contract Number - Line no value		Delivery Information			
Quote number		Required Delivery Date			
		Ship Via	Best Carrier-Best Way		

Notes to Supplier

Shipping Instructions

Furnish and Installation as per E&I Contract #CNR01146, HBI Office Solutions Note to Supplier Quote #22532 and Installation Terms and Conditions

Attachments for supplier

HBI Quote 22532 (... Installation Term...

PO Clauses

Header 001 Neither COD nor "Collect" freight or handling charges will be accepted. Fax Page 2 of 4

	No Collect Freight Charges Accepted	
102	TAMU Terms & Conditions	Terms & Conditions - Texas A&M University -This purchase order is issued on behalf of Texas A&M University and is governed by the Terms & Conditions found online: http://purchasing.tamu.edu/suppliers/bids-catalogue-tc-form/ From this website please select "Texas A&M University" from the drop-down menu.

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 12	Move; Stool, Plastic seat / back,No arms, GlidesFRAME :4799 PLATINUM METALLICSEAT :6333 PICASSOSHELL :6333 PICASSOOPTIONS * * OPTIONS * *GLIDES *OPT:GLIDESHARD GLD STD:HARD GLIDES	490710P-2	EA	279.50 USD	6 EA	1,677.00 USD
	Supplier Part BID=591968:::ITM=245737:::RID=0:::DLR=212 Auxiliary ID	2				
		Manufacturer	Part ID 49	0710P		
2 of 12	Base, 28 diaBASE :4799 PLATINUM METALLIC	TS4TBASE28-3	EA	278.81 USD	2 EA	557.62 USD
	Supplier Part BID=591968:::ITM=245738:::RID=0:::DLR=212 Auxiliary ID	2				
		Manufacturer	Part ID TS	4TBASE28		
3 of 12	Top-Table, Round, 36 dia, 1 1/8 thick,Low pressure laminateEDGE :6707 ASH NOCETOP-SURF:2LAN ASH NOCE (LPL)	TS4TLDR36-4	EA	157.78 USD	2 EA	315.56 USD
	Supplier Part BID=591968:::ITM=245739:::RID=0:::DLR=212 Auxiliary ID					
		Manufacturer Part ID TS4TLDR36				
4 of 12	Move; Chair, Plastic seat / back,No arms, GlidesFRAME :4799 PLATINUM METALLICSEAT :6333 PICASSOSHELL :6333 PICASSOOPTIONS * * OPTIONS * *GLIDES *OPT:GLIDESHARD GLD STD:HARD GLIDES	490410P-5	EA	157.50 USD	8 EA	1,260.00 USD
	Supplier Part BID=591968:::ITM=245740:::RID=0:::DLR=212 Auxiliary ID					
		Manufacturer Part ID 490410P				
5 of 12	Base, 28 diaBASE :4799 PLATINUM METALLIC	TS4TBASE28-6	EA	278.81 USD	10 EA	2,788.10 USD
	Supplier Part BID=591968:::ITM=245741:::RID=0:::DLR=212 Auxiliary ID					
		Manufacturer	Part ID TS	4TBASE28		
6 of 12	Top-Table, Round, 36 dia, 1 1/8 thick,Low pressure laminateEDGE:6707 ASH NOCETOP-SURF:2LAN ASH NOCE (LPL)	TS4TLDR36-7	EA	157.78 USD	10 EA	1,577.80 USD

Fax Page 3 of 4

	Supplier Part BID=591968:::ITM=245742:::RID=0:::DLR=212 Auxiliary ID							
		Manufacturer Pa	rt ID T	S4TLDR36				
7 of 12	Move; Chair, Plastic back, Arms, GlidesFRAME :4799 PLATINUM METALLICSHELL :6333 PICASSOUPHLSTRY:5G64 ALPINEOPTIONS * * OPTIONS * *GLIDES *OPT:GLIDESHARD GLD STD:HARD GLIDES	490412-8	EA	224.00 USD	40 EA	8,960.00 USD		
	Supplier Part BID=591968:::ITM=245743:::RID=0:::DLR=212 Auxiliary ID							
		Manufacturer Pa	rt ID 49	90412				
8 of 12	Ology; Desk-Rectangle, Extended heightSize Option: ModularDepth: 29.00000Width: 76.00000Top Surface Finish: Woodgrain HPL 2HAN - ASH NOCE (HPL)Edge Finish: Plastic - PG1 6707 - ASH NOCEBase Finish: Smooth Metallic 4799 - PLATINUM METALLICCorner: Radius C	OLELRQ-9	EA	1,478.58 USD	1 EA	1,478.58 USD		
	Supplier Part BID=591968:::ITM=245744:::RID=0:::DLR=212 Auxiliary ID							
		Manufacturer Pa	rt ID O	LELRQ				
9 of 12	Ology; Modesty panel, desk applicationSize Option: ModularWidth: 76.00000Modesty Panel Finish: Woodgrain HPL 2HAN - ASH NOCE (HPL)Grain Direction: HorizontalEdge Finish: Plastic - PG1 6707 - ASH NOCE	OLMP-10	EA	137.37 USD	1 EA	137.37 USD		
	Supplier Part BID=591968:::ITM=245745:::RID=0:::DLR=212 Auxiliary ID							
		Manufacturer Pa	rt ID O	LMP				
10 of 12	Ology; Basket-Cable	OLCB-11	EA	34.20 USD	1 EA	34.20 USD		
	Supplier Part BID=591968:::ITM=245746:::RID=0:::DLR=212 Auxiliary ID							
		Manufacturer Part ID OLCB						
11 of 12	Pedestal, Mobile, 2 files,18D x 15W x 27 1/2HBASIC :2LAN ASH NOCE (LPL)LOCK :9201 POLISHED CHROMEOPTIONS * * OPTIONS * *PULL OPT *OPT:PULL OPTIONSHAN PLAT HANDLE PULL PLATINUM	TS5AFMFF-12	EA	495.88 USD	1 EA	495.88 USD		
	Supplier Part BID=591968:::ITM=245747:::RID=0:::DLR=212 Auxiliary ID							
		Manufacturer Part ID TS5AFMFF						
12 of 12	Pedestal, Mobile, 2 box / 1 file,18D x 15W x 27 1/2HBASIC :2LAN ASH NOCE (LPL)LOCK :9201 POLISHED	TS5AFMBBF- 13	EA	495.88 USD	1 EA	495.88 USD		

Fax Page 4 of 4

			Total	19,777.99 US D
		Manufacturer Part ID) TS5AFMBBF	
Supplier Part Auxiliary ID	BID=591968:::ITM=245748:::RID=0:::DLR=212			
	NS * * OPTIONS * *PULL OPT *OPT:PULL LAT HANDLE PULL PLATINUM			

Billing Information	Billing Address
To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail abvendorhelp@tamu.edu. Invoice must include the PO/Reference number shown above.	Texas A&M University-Accounts Payable ***Do Not Mail Invoices*** Email invoices to invoices@tamu.edu 750 Agronomy Road - Suite 3101 6000 TAMU College Station, TX 77843-6000 United States